AVERAGE SUCCESSFUL BIDS – As of May 3, 2018 Clark County Forest

Species/Type	Vol	ume	Weighted	d Average	Hi	gh	Low		
Species/Type	tons cords		per ton	per cord	per ton	per cord	per ton	per cord	
Aspen Pulp	3275 <i>1456</i>		\$10.98	\$24.70	\$20.00	\$45.00	\$9.25	\$20.81	
Aspen Bolts	390	173	\$19.63	\$44.18	\$24.00	\$54.00	\$14.00	\$31.50	
Oak Pulp	7655	2784	\$11.66	\$32.06	\$15.00	\$41.25	\$6.00	\$16.50	
Oak Bolts	2670	971	\$26.42	\$72.65	\$30.00	\$82.50	\$12.62	\$34.71	
Mixed Hardwood Pulp	3540	1539	\$12.74	\$29.31	\$20.00	\$46.00	\$9.25	\$21.28	
Tamarack	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Basswood Pulp	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Mixed Hardwood Bolts	265	115	\$27.26	\$62.71	\$35.87	\$82.50	\$15.00	\$34.50	
Jack Pine Pulp	0	0 0	0 0 #DIV/0!		#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00 \$52.94
Red Pine Pulp	1270	564	\$24.35	\$54.79	\$24.57	\$55.28	\$23.53		
White Pine Pulp	60	29	\$18.50	\$38.85	\$18.50	8.50 \$38.85	\$18.50	\$38.85	
Red Pine Comingled	10135	4504	\$33.50	\$75.38	\$42.00	\$94.50	\$12.00	\$27.00	
White Pine Comingled	6420	3057	\$21.71	\$45.60	\$34.36	\$72.16	\$10.00	\$21.00	
	m	bf	m	mbf		mbf		bf	
Red Oak Sawlog	84	9.9	\$45	3.65	\$475.00		\$270.00		
White Oak Sawlog	14	8.6	\$39	3.55	\$47	5.00	\$170.00		
Black Oak Sawlog	10	63	\$21	4.69	\$22	5.00	\$12	0.00	
Red Maple Sawlog	4	5	\$35	\$357.22		\$475.00		0.00	
Sugar Maple Sawlog	(0	#DI	IV/0!	\$0	.00	\$0	.00	
Mixed Hardwood Sawlog	3	2	\$32	20.94	\$43	0.00	\$130.00		
Red Pine Sawlogs	(0	#DI	IV/0!	\$0	.00	\$0.00		
White Pine Sawlogs	1	5	\$17	75.00	\$17	5.00	\$175.00		

TIMBER SALE BID RESULTS May 3, 2018

CLARK COUNTY FOREST

Tract	Number of Bids				
Number	Qualified	Non-Qualified	High Bidder	Appraised Value	Bid Value
41-16	0	0	No Bid	\$13,034.60	\$ -
43-16	0	0	No Bid	\$14,649.40	\$ -
55-16	0	0	No Bid	\$11,151.20	\$ -
56-16	0	0	No Bid	\$11,857.20	\$ -
22-17	0	0	No Bid	\$4,084.80	\$ -
23-17	0	0	No Bid	\$1,633.50	\$
26-17	1	0	Russ Thums	\$22,538.50	\$ 22,543.40
38-17	1	0	Russ Thums	\$37,495.58	\$ 38,272.00
1-18	12	0	Tlusty Logging, Inc	\$31,310.00	\$ 45,001.20
2-18	2	0	Tlusty Logging, Inc	\$3,532.50	\$ 6,473.10
3-18	7	0	Byers Forestry	\$104,670.50	\$ 148,998.50
4-18	3	0	Wiitala & Vozka	\$38,625.30	\$ 53,970.00
5-18	7	0	Byers Forestry	\$180,433.05	\$ 264,179.05
6-18	8	0	Byers Forestry	\$110,222.60	\$ 160,550.00
7-18	1	0	Paul Wojcik	\$58,710.80	\$ 70,597.50
8-18	3	0	Wiitala & Vozka	\$71,899.60	\$ 95,770.00
9-18	5	0	Tlusty Logging, Inc	\$17,360.00	\$ 24,930.00
10-18	2	0	Ryder Logging	\$9,564.00	\$ 9,750.00
11-18	0	0	No Bid	\$11,952.40	\$ -
12-18	2	0	Russ Thums	\$18,211.30	\$ 19,130.00
13-18	2	0	Wiitala & Vozka	\$158,779.00	\$ 221,657.80
14-18	1	0	Ryder Logging	\$4,860.00	\$ 5,725.00
15-18	4	0	Landwehr Custom Logging	\$47,925.50	\$ 74,504.00
16-18	2	0	Ryder Logging	\$16,887.80	\$ 19,875.00
Totals	63	0		\$ 1,001,389.13	\$ 1,281,926.55

*lump sum

Number of Tracts Offered	24
Number of Tracts Receiving Bids	17
Number of Tracts with Qualifying Bids	17
Number of Tracts with No Bids	7

Total Number of Bids	63
Total Number of Qualifying Bids	63
Avg. Number of Qualifying Bids Per Tract	3.7

Total Appraised Value of Tracts Sold	\$933,026.03
Total Bid Value of Tracts Sold	\$ 1,281,926.55
Percent Increase Over Appraised Value	37%

Cord Equivalent Volume Sold	17,485.00
Average Cord Equivalent/Sold Tract	1029
Average \$ per Cord Equivalent Sold	\$ 73.32

Acres Sold	1,097.00
Average Acreage of Sold Tracts	65
Average \$ per Acre Sold	\$ 1,168.57

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract:

26-17

Minimum Bid: 22,538.50

Russ Thums

22,543.40 🗹

Russ	Thur		Inc 🗌		
		Vol	Value		
10-MI	₹	1	130.000	ı	130.00
10-00	2	16	120.000	1	,920.00
10-0\	Ν	4	170.000	ı	680.00
18T-F	W	790	12.620	. 9	9,969.80
18T-F	PR	450	12.620		5,679.00
20T-N	ЛΧ	150	12.620	1	1,893.00
15T-0	DΒ	30	12.620	ı	378.60
20T-0	00	150	12.620	1	1,893.00
		Bid	Total:	22	2,543.40

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract:

38-17

Minimum Bid: 37,495.58

Russ Thums

38,272.00 ☑

Russ Thu	Inc _		
	Vol	Value	
10-MX	11	140.000	1,540.00
10-OW	0.6	170.000	102.00
10-OR	1.4	300.000	420.00
18T-PW	980	11.000	10,780.00
18T-PR	1100	12.000	13,200.00
15T-HB	30	15.000	450.00
20T-MX	540	12.000	6,480.00
20T-OO	200	6.000	1,200.00
20T-A	410	10.000	4,100.00
	Bid	Total:	38,272.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

Tract: 1-18 Minimum Bid: 31,310.0	Tract:	1-18	Minimum Bid:	31,310.00
-----------------------------------	--------	------	--------------	-----------

Tlusty Logging, Inc.	45,001.20 ☑
Byers Forestry	44,130.00 🗆
Nicholas Syryczuk	43,540.00 □
Buffalo Lumber & Tie	39,340.00 □
Country Forest Products	38,255.00 □
Walters Logging	35,302.60 □
Kron Logging	34,680.00 🗆
Burkey's Lumber LLC	33,846.50 🗆
Twin Forest Products LLC	33,489.10 🗆
Northwest Hardwoods Inc	33,238.00 🗆
Matticks Logging LLC	32,670.00 \square
Russ Thums	31,807.80 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

						Tract:	1-18		Minir	num Bid:	31,310.	00							
Byers Fo	restry		Inc 🗌	Kron Log	ging		Inc 🗌	Tlusty Logging, Inc. Inc[Inc 🔙	Nicholas Syryczuk Inc [Inc 🗌	Twin Forest Products LLC			Inc 🔲		
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MR	3	375.000	1,125.00	10-MR	3	180.000	540.00	10-MR	3	300.000	900.00	10-MR	3	380.000	1,140.00	10-MR	3	300.000	900.00
10-OW	10	375.000	3,750.00	10-OW	10	180.000	1,800.00	10-OW	10	365.000	3,650.00	10-OW	10	380.000	3,800.00	10-OW	10	290.000	2,900.00
10-OR	58	375.000	21,750.00	10-OR	58	300.000	17,400.00	10-OR	58	400.000	23,200.00	10-OR	58	380.000	22,040.00	10-OR	58	312.000	18,096.00
20T-PW	30	18.500	555.00	20T-PW	30	10.000	300.00	20T-PW	30	18.500	555.00	20T-PW	30	10.000	300.00	20T-PW	30	7.930	237.90
15T-OB	280	30.000	8,400.00	15T-OB	280	24.000	6,720.00	15T-OB	280	25.500	7,140.00	15T-OB	280	30.000	8,400.00	15T-OB	280	21.770	6,095.60
20T-00	630	13.000	8,190.00	20T-OO	630	12.000	7,560.00	20T-OO	630	14.570	9,179.10	20T-OO	630	12.000	7,560.00	20T-OO	630	8.070	5,084.10
20T-A	30	12.000	360.00	20T-A	30	12.000	360.00	20T-A	30	12.570	377.10	20T-A	30	10.000	300.00	20T-A	30	5.850	175.50
	Bid	Total:	44,130.00		Bid	Total:	34,680.00		Bid	Total:	45,001.20	Bid Total: 43,540.00		43,540.00		Bid	Total:	33,489.10	
Northwes	t Hard	woods Inc	Inc 🗌	Matticks I	Loggin	g LLC	Inc 🗌	Burkey's	Lumbe	r LLC	Inc 🔙	Russ Thu	ms		Inc 🗌	Walters Logging		Inc 🗌	
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MR	3	275.000	825.00	10-MR	3	195.000	585.00	10-MR	3	320.000	960.00	10-MR	3	150.000	450.00	10-MR	3	250.000	750.00
10-OW	10	275.000	2,750.00	10-OW	10	195.000	1,950.00	10-OW	10	320.000	3,200.00	10-OW	10	200.000	2,000.00	10-OW	10	250.000	2,500.00
10-OR	58	305.000	17,690.00	10-OR	58	285.000	16,530.00	10-OR	58	320.000	18,560.00	10-OR	58	325.000	18,850.00	10-OR	58	300.000	17,400.00
20T-PW	30	15.000	450.00	20T-PW	30	16.250	487.50	20T-PW	30	4.750	142.50	20T-PW	30	10.330	309.90	20T-PW	30	13.000	390.00
15T-OB	280	24.000	6,720.00	15T-OB	280	24.000	6,720.00	15T-OB	280	21.850	6,118.00	15T-OB	280	12.000	3,360.00	15 T -OB	280	27.000	7,560.00
20T-OO	630	7.100	4,473.00	20T-OO	630	9.500	5,985.00	20T-OO	630	7.300	4,599.00	20T-OO	630	10.330	6,507.90	20T-OO	630	10.020	6,312.60
20T-A	30	11.000	330.00	20T-A	30	13.750	412.50	20T-A	30	8.900	267.00	20T-A	30	11.000	330.00	20T-A	30	13.000	390.00
	Bid	Total:	33,238.00		Bid	Total:	32,670.00		Bid	Total:	33,846.50		Bid	Total:	31,807.80		Bid	Total:	35,302.60
Country F	orest	Products	Inc	Buffalo Lu	ımber	& Tie	Inc												,

	טוע	TOTAL.	33,236.00		Diu	i otai.	32,070.00
Country F	orest	Products	inc _	Buffalo Lu	umber	& Tie	Inc 🗌
	Vol	Value			Vol	Value	
10-MR	3	250.000	750.00	10-MR	3	250.000	750.00
10-OW	10	305.000	3,050.00	10-OW	10	350.000	3,500.00
10-OR	58	385.000	22,330.00	10-OR	58	385.000	22,330.00
20T-PW	30	12.500	375.00	20T-PW	30	14.000	420.00
15T-OB	280	12.500	3,500.00	15T-OB	280	25.000	7,000.00
20T-OO	630	12.500	7,875.00	20T-OO	630	8.000	5,040.00
20T-A	30	12.500	375.00	20T-A	30	10.000	300.00
	Bid	Total:	38,255.00		Bid	Total:	39,340.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 2-18

Minimum Bid:

3,532.50

Tlusty Logging, Inc.

Martin's Forestry

ogging, l	nc.	Inc 🔲	Martin's F	orestry	,	Inc 🗌
Vol	Value			Vol	Value	
270	23.530	6,353.10	20T-PR	270	12.700	3,429.00
10	12.000	120.00	20T-MX	10	12.700	127.00
Bid	Total:	6,473.10		Bid	Total:	3,556.00
	Vol 270 10	270 23.530	Vol Value 270 23.530 6,353.10 10 12.000 120.00	Vol Value 270 23.530 6,353.10 20T-PR 10 12.000 120.00 20T-MX	Vol Value Vol 270 23.530 6,353.10 20T-PR 270 10 12.000 120.00 20T-MX 10	Vol Value Vol Value 270 23.530 6,353.10 20T-PR 270 12.700 10 12.000 120.00 20T-MX 10 12.700

6,473.10 ☑ 3,556.00 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract:

3-18

Minimum Bid: 104,670.50

Inc

8,600.00

12,900.00

81,700.00

8,997.50

1,793.50

3,117.50

15,900.00

15,990.00

148,998.50

148,998.50 ☑ **Byers Forestry** 133,690.00 **Buffalo Lumber & Tie** Nicholas Syryczuk 132,024.50 131,955.00 🗆 Northwest Hardwoods Inc. 126,460.00 **Country Forest Products** 118,170.00 Paul Wojcik Krizan Trucking

108.940.00

Value

20.000

24,000

11.000

24.000

7.000

Bid Total:

5,600.00

10,440.00

85,120.00

5,900.00

1,200.00

2,365.00

12,720.00

8,610.00

131,955.00

20 280.000

30 348.000

190 448.000

Inc Buffalo Lumber & Tie

10-MX

10-OW

10-OR

18T-PW

15T-HB

20T-MX

15T-OB

20T-00

Value

25.000

8.000

25.000

8.000

20 300.000

30 400.000

190 450.000

295 14.000

Bid Total:

Vol

50

215

530

1230

Northwest Hardwoods Inc

Vol

295

50

215

530

10-MX

10-OW

10-OR

18T-PW

15T-HB

20T-MX

15T-OB

20T-OO 1230

							· · •			
Paul Woj	cik		Inc 🗌	Krizan Tr	ucking		Inc 🔲	Byers Fo	restry	
	Vol	Value			Vol	Value	:		Vol	Value
10-MX	20	200.000	4,000.00	10-MX	20	200.000	4,000.00	10-MX	20	430.000
10-OW	30	275.000	8,250.00	10-OW	30	375.000	11,250.00	10-OW	30	430.000
10-OR	190	375.000	71,250.00	10-OR	190	375.000	71,250.00	10-OR	190	430.000
18T-PW	295	26.000	7,670.00	18T-PW	295	13.000	3,835.00	18T-PW	295	30.500
15T-HB	50	28.000	1,400.00	15T-HB	50	21.000	1,050.00	15T-HB	50	35.870
20T-MX	215	10.000	2,150.00	20T-MX	215	7.000	1,505.00	20T-MX	215	14.500
15T-OB	530	28.000	14,840.00	15T-OB	530	21.000	11,130.00	15T-OB	530	30.000
20T-00	1230	7.000	8,610.00	20T-OO	1230	4.000	4,920.00	20T-OO	1230	13.000
	Bid	Total:	118,170.00		Bid	Total:	108,940.00		Bid	Total:
Nicholas	Syrycz	uk	Inc 🗌	Country F	orest	Products	Inc 🗌			
	Vol	Value			Vol	Value				
10-MX	20	230.000	4,600.00	10-MX	20	275.000	5,500.00			
10-OW	30	400.000	12,000.00	10-OW	30	335.000	10,050.00			
10-OR	190	400.000	76,000.00	10-OR	190	425.000	80,750.00			
18T-PW	295	22.700	6,696.50	18T-PW	295	13,000	3,835.00			
15T-HB	50	26.000	1,300.00	15T-HB	50	13.000	650.00			
20T-MX	215	10.000	2,150.00	20T-MX	215	13.000	2,795.00			
15T-OB	530	26.000	13,780.00	15T-OB	530	13.000	6,890.00			
20T-00	1230	12.600	15,498.00	20T-OO	1230	13.000	15,990.00			
	Bid	Total:	132,024.50		Bid	Total:	126,460.00			

Inc 🗌

6,000.00

12,000.00

85,500.00

4,130.00

1,250.00

1,720.00

13,250.00

9,840.00

133,690.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 4-18

Minimum Bid: 38,625.30

Wiitala & Vozka Logging LLC Kron Logging

Martin's Forestry

Kron Log	ging		Inc 🗌	Wiitala &	Vozka	Logging L	LC Inc 🗌	Martin's F	orestry		Inc 🗌
	Vol	Value			Vol	Value			Vol	Value	
18T-PR	1260	32.130	40,483.80	18T-PR	1260	42.000	52,920.00	18T-PR	1260	30.600	38,556.00
20T-00	10	8.000	80.00	20T-OO	10	15.000	150.00	20T-OO	10	8.000	80.00
20T-MX	45	8.000	360.00	20T-MX	45	20.000	900.00	20T-MX	45	8.000	360.00
	Bid	Total:	40,923.80		Bid	Total:	53,970.00		Bid `	Total:	38,996.00
					1						

53,970.00 🗹

40,923.80

38,996.00 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

Tract:	5-18	Minimum Bid: 180,433.05
--------	------	--------------------------------

Byers Forestry	264,179.05 🗹
Buffalo Lumber & Tie	236,115.00 🗆
Northwest Hardwoods Inc	224,800.00 🗆
Nicholas Syryczuk	221,167.50 🗆
Krizan Trucking	203,125.00 🗆
Country Forest Products	203,075.00 🗆
Paul Wojcik	197,050.00 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

						i raci	∷ 5-18		Mini	mum Bid:	180,433.	05							
Paul Woj	cik		Inc 🗌	Krizan Tr	rucking		Inc 🗌	Byers Fo	restry		Inc 🗌	Country I	Forest I	Products	inc [Northwes	t Hardv	voods Inc	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	15	130.000	1,950.00	10-PW	15	120.000	1,800.00	10-PW	15	175.000	2,625.00	10-PW	15	120.000	1,800.00	10-PW	15	120.000	1,800.00
10-BA	15	190.000	2,850.00	10-BA	15	200.000	3,000.00	10-BA	15	325.000	4,875.00	10-BA	15	175.000	2,625.00	10-BA	15	150.000	2,250.00
10-MR	20 2	210.000	4,200.00	10-MR	20	330.000	6,600.00	10-MR	20	475.000	9,500.00	10-MR	20	250.000	5,000.00	10-MR	20	280.000	5,600.00
10-OW	25	275.000	6,875.00	10-OW	25	330.000	8,250.00	10-OW	25	475.000	11,875.00	10-OW	25	250.000	6,250.00	10-OW	25	348.000	8,700.00
10-OR	380	375.000	142,500.00	10-OR	380	425.000	161,500.00	10-OR	380	475.000	180,500.00	10-OR	380	405.000	153,900.00	10-OR	380	448.000	170,240.00
20T-PW	30	9.000	270.00	20T-PW	30	6.000	180.00	20T-PW	30	18.500	555.00	20T-PW	30	13.000	390.00	20T-PW	30	7.000	210.00
15T-HB	65	28.000	1,820.00	15T-HB	65	15.000	975.00	15T-HB	65	35.870	2,331.55	15T-HB	65	13.000	845.00	15T-HB	65	24.000	1,560.00
20T-MX	305	10.000	3,050.00	20T-MX	305	7.000	2,135.00	20T-MX	305	14.500	4,422.50	20T-MX	305	13.000	3,965.00	20T-MX	305	11.000	3,355.00
15T-OB	645	28.000	18,060.00	15T-OB	645	15.000	9,675.00	15T-OB	645	30.000	19,350.00	15T-OB	645	13.000	8,385.00	15T-OB	645	24.000	15,480.00
20T-OO	2025	7.000	14,175.00	20T-OO	2025	4.000	8,100.00	20T-OO	2025	13.000	26,325.00	20T-OO	2025	9.000	18,225.00	20T-OO	2025	7.000	14,175.00
20T-A	130	10.000	1,300.00	20T-A	130	7.000	910.00	20T-A	130	14.000	1,820.00	20T-A	130	13.000	1,690.00	20T-A	130	11.000	1,430.00
	Bid :	Total:	197 050 00		Bid	Total:	203 125 00		Bid	Total:	264.179.05		Bid	Total:	203.075.00		Bid	Total:	224.800.00

Buffalo Li	umber	& Tie	Inc	Nicholas	Syrycz	uk	Inc []
	Vol	Value			Vol	Value	
10-PW	15	125.000	1,875.00	10-PW	15	130.000	1,950.00
10-BA	15	200.000	3,000.00	10-BA	15	363.000	5,445.00
10-MR	20	300.000	6,000.00	10-MR	20	390.000	7,800.00
10-OW	25	400.000	10,000.00	10-OW	25	400.000	10,000.00
10-OR	380	460.000	174,800.00	10-OR	380	400.000	152,000.00
20T-PW	30	14.000	420.00	20T-PW	30	10.000	300.00
15T-HB	65	25.000	1,625.00	15T-HB	65	30.000	1,950.00
20T-MX	305	9.000	2,745.00	20T-MX	305	10.000	3,050.00
15T-OB	645	25.000	16,125.00	15T-OB	645	30.000	19,350.00
20T-OO	2025	9.000	18,225.00	20T-OO	2025	8.900	18,022.50
20T-A	130	10.000	1,300.00	20T-A	130	10.000	1,300.00
	Bid	Total:	236,115.00		Bid	Total:	221,167.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract:

6-18

Minimum Bid: 110,222.60

Byers Forestry	160,550.00 ☑
Nicholas Syryczuk	153,865.00 🗆
Tlusty Logging, Inc.	140,377.15 🗆
Buffalo Lumber & Tie	138,405.00 🗆
Northwest Hardwoods Inc	131,197.75 🗆
Luke Brunner Tree Removal	130,345.00 🗆
Krizan Trucking	110,302.50 🗆
Country Forest Products	110,235.00 🗆

·						,								
Nicholas	Syrycz	uk	Inc 🗌	Buffalo L	umber	& Tie	Inc 🗌	Northwes	t Hard	woods Inc	Inc 🗌	Country F	orest	Products
	Vol	Value			Vol	Value			Vol	Value			Vol	Value
10-MR	5	300.000	1,500.00	10-MR	5	300.000	1,500.00	10-MR	5	235.000	1,175.00	10-MR	5	131.000
10-OW	50	462.000	23,100.00	10-OW	50	400.000	20,000.00	10-OW	50	335.000	16,750.00	10-OW	50	171.000
10-OR	210	462.000	97,020.00	10-OR	210	425.000	89,250.00	10-OR	210	415.000	87,150.00	10-OR	210	271.000
20T-MX	130	10.000	1,300.00	20T-MX	130	8.000	1,040.00	20T-MX	130	11.150	1,449.50	20T-MX	130	202.750
15T-OB	535	30.000	16,050.00	15T-OB	535	25.000	13,375.00	15T-OB	535	24.000	12,840.00	15T-OB	535	10.000
20T-OO	1655	9.000	14,895.00	20T-OO	1655	8.000	13,240.00	20T-00	1655	7.150	11,833.25	20T-OO	1655	7.500
	Bid	Total:	153,865.00		Bid	Total:	138,405.00		Bid	Total:	131,197.75		Bid	Total:
Luke Bru	nner T	ree Remo	val Inc	Byers Fo	restry		Inc 🗌	Krizan Tr	ucking		Inc 🗌			
	Vol	Value			Vol	Value			Vol	Value				
10-MR	5	400.000	2,000.00	20T-MX	130	14.500	1,885.00	10-MR	5	330.000	1,650.00			
10-OW	50	400.000	20,000.00	15T-OB	535	30.000	16,050.00	10-OW	50	330.000	16,500.00			
10-OR	210	400.000	84,000.00	20T-OO	1655	13.000	21,515.00	10-OR	210	330.000	69,300.00			
20T-MX	130	8.000	1,040.00	10-MR	5	400.000	2,000.00	20T-MX	130	7.000	910.00			
15T-OB	535	25.000	13,375.00	10-OW	50	450.000	22,500.00	15T-OB	535	24.000	12,840.00			
20T-OO	1655	6.000	9,930.00	10-OR	210	460.000	96,600.00	20T-OO	1655	5.500	9,102.50			
	Bid	Total:	130,345.00		Bid	Total:	160,550.00		Bid	Total:	110,302.50			

Inc 🗌

1,500.00

18,750.00

84,000.00

2,015.00

13,375.00

20,737.15

140,377.15

Inc Tlusty Logging, Inc.

10-MR

10-OW

10-OR

20T-MX

15T-OB

20T-OO

655.00

8,550.00

56,910.00

26,357.50

5,350.00

12,412.50

110,235.00

Vol Value 5 300.000

50 375.000

210 400.000

130 15.500

535 25.000

1655 12.530

Bid Total:

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: **7-18**

Minimum Bid: 58,710.80

Paul Wojcik

70,597.50 🗹

Paul Woje	cik		Inc 🗌
	Vol	Value	
10-MR	6	200.000	1,200.00
10-00	12	350.000	4,200.00
18T-PW	1520	20.000	30,400.00
18T-PR	1280	21.000	26,880.00
15T-HB	50	25.000	1,250.00
20T-MX	360	9.250	3,330.00
15T-OB	60	25.000	1,500.00
20T-OO	170	7.000	1,190.00
20T-A	70	9.250	647.50
	Bid	Total:	70,597.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 8-18

Minimum Bid: 71,899.60

Wiitala & Vozka Logging LLC Martin's Forestry

Kron Logging

95,770.00 ☑ 85,900.50 73,410.00

						יישטי					
Martin's F	orestry	•	Inc 🗌	Kron Log	ging		Inc 🗌	Wiitala &	Vozka	Logging I	LC Inc
	Vol	Value			Vol	Value			Vol	Value	
18T-PW	1400	30.000	42,000.00	18T-PW	1400	18.000	25,200.00	18T-PW	1400	28.200	39,480.00
18T-PR	1450	30.000	43,500.00	18T-PR	1450	33.000	47,850.00	18T-PR	1450	38.200	55,390.00
20T-A	45	8.900	400.50	20T-A	45	8.000	360.00	20T-A	45	20.000	900.00
Bid Total:		85,900.50		Bid	Total:	73,410.00		Bid	Total:	95,770.00	

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 9-18

Minimum Bid: 17,360.00

	Tlusty Logging, Inc.	24,930.00 ☑
	Wiitala & Vozka Logging LLC	24,600.00 🗆
	Bridge Creek Logging	21,780.00 🗆
	Nicholas Syryczuk	17,550.00 🗆
	Martin's Forestry	17,478.00 🗆
ridge Creek Logging	Inc Nicholas Syryczuk Inc Tlusty Logging, Inc.	Inc Wiitala & Vozka Logging LLC

Bridge (Creek Lo	gging	Inc 🗌	Nicholas	Syryczı	ık	Inc 🗌	Tlusty Lo	gging, I	nc.	Inc 🗌	Wiitala &	Vozka	Logging Ll	.C Inc [Martin's I	orestry	,	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
20T-PR	1000	21.300	21,300.00	20T-PR	1000	17.250	17,250.00	20T-PR	1000	24.570	24,570.00	20T-PR	1000	24.000	24,000.00	20T-PR	1000	17.100	17,100.00
20T-MX	30	16.000	480.00	20T-MX	30	10.000	300.00	20T-MX	30	12.000	360.00	20T-MX	30	20.000	600.00	20T-MX	30	12.600	378.00
	Bid	Total:	21,780.00		Bid	Total:	17,550.00		Bid	Total:	24,930.00		Bid	Total:	24,600.00		Bid	Total:	17,478.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

Tract:

10-18

Minimum Bid: 9,564.00

Ryder Logging Weaver Forest Products 9,750.00 🗹

9,567.00

Weaver F	orest F	roducts	lnc 🗌	Ryder Log	Inc 🗌		
	Vol	Value			Vol	Value	
20T-MX	325	9.600	3,120.00	20T-MX	325	9.750	3,168.75
20T-OO	15	9.600	144.00	20T-OO	15	9.750	146.25
20T-A	660	9.550	6,303.00	20T-A	660	9.750	6,435.00
	Bid	Total:	9,567.00		Bid	Total:	9,750.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





Bid Comparison Report

Tract:

12-18

Minimum Bid: 18,211.30

Russ Thums Ryder Logging

19,130.00 🗹 18,270.00 □

						~~	<u> </u>
Ryder Log	gging		Inc 🔙	Russ Thu	ms		Inc 🗌
	Vol	Value			Vol	Value	
10-OR	10	270.000	2,700.00	10-OR	10	300.000	3,000.00
18T-PW	210	9.000	1,890.00	18T-PW	210	11.000	2,310.00
20T-MX	280	9.000	2,520.00	20T-MX	280	11.000	3,080.00
15T-OB	30	24.000	720.00	15 T -OB	30	14.000	420.00
20T-OO	150	9.000	1,350.00	20T-OO	150	6.000	900.00
15T-AB	150	24.000	3,600.00	15T-AB	150	14.000	2,100.00
20T-A	610	9.000	5,490.00	20T-A	610	12.000	7,320.00
	Bid	Total:	18,270.00		Bid	Total:	19,130.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract:

13-18

Minimum Bid: 158,779.00

Wiitala & Vozka Logging LLC

221,657.80 🗹 221,420.45

Bridge Creek Logging

Bridge Cr	eek Lo	gging	Inc 🗌	Wiitala &	Vozka	Logging I	LC Inc
	Vol	Value			Vol	Value	
18T-PW	1010	39.290	39,682.90	18T-PW	1010	34.360	34,703.60
18T-PR	4595	39.290	180,537.55	18T-PR	4595	40.360	185,454.20
20T-MX	75	16.000	1,200.00	20T-MX	75	20.000	1,500.00
	Bid	Total:	221,420.45		Bid	Total:	221,657.80

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: **14-18**

Minimum Bid: **4,860.00**

Ryder Logging

5,725.00 ☑

Ryder Log	gging		Inc 🗌
	Vol	Value	
18T-PW	150	14.000	2,100.00
20T-MX	100	12.500	1,250.00
20T-A	190	12.500	2,375.00
	Bid	Total:	5,725.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 15-18

Minimum Bid: 47,927.50

Landwehr Custom Logging **Country Forest Products** Buffalo Lumber & Tie **Russ Thums**

74,504.00 ☑ 69,635.00 □

67,795.00 □

47,994.00

Buffalo L	umber	& Tie	Inc 🗌	Landweh	r Custo	m Logging	inc 🔲	Russ Thu	ms		Inc 🗌	Country F	orest l	Products	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MR	11	250.000	2,750.00	10-MR	11	225.000	2,475.00	10-MR	11	130.000	1,430.00	10-MR	11	245.000	2,695.00
10-00	147	205.000	30,135.00	10-00	147	225.000	33,075.00	10-00	147	136.000	19,992.00	10-00	147	190.000	27,930.00
10-OW	22	270.000	5,940.00	10-OW	22	225.000	4,950.00	10-OW	22	170.000	3,740.00	10-OW	22	295.000	6,490.00
15T-HB	70	20.000	1,400.00	15T-HB	70	20.000	1,400.00	15T-HB	70	8.200	574.00	15T-HB	70	13.000	910.00
20T-MX	740	8.000	5,920.00	20T-MX	740	15.200	11,248.00	20T-MX	740	8.200	6,068.00	20T-MX	740	13.000	9,620.00
15T-OB	560	20.000	11,200.00	15T-OB	560	17.500	9,800.00	15T-OB	560	8.250	4,620.00	15T-OB	560	11.000	6,160.00
20T-OO	1250	7.000	8,750.00	20T-OO	1250	7.250	9,062.50	20T-OO	1250	8.200	10,250.00	20T-00	1250	11.000	13,750.00
15T-AB	30	22.000	660.00	15T-AB	30	17.250	517.50	15T-AB	30	8.250	247.50	15T-AB	30	13.000	390.00
20T-A	130	8.000	1,040.00	20T-A	130	15.200	1,976.00	20T-A	130	8.250	1,072.50	20T-A	130	13.000	1,690.00
	Bid	Total:	67,795.00		Bid	Total:	74,504.00		Bid	Total:	47,994.00		Bid	Total:	69,635.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





Bid Comparison Report

Tract: 16-18

Minimum Bid: 16,887.80

Ryder Logging Lake States Timber LLC 19,875.00 ☑ 16,888.00 🗆

						tutoo i	
Ryder Logging In-				Lake Stat	es Tin	ber LLC	inc 🗌
	Vol	Value			Vol	Value	
10-OR	0.5	270.000	135.00	10-OR	0.5	270.000	135.00
18T-PW	65	10.000	650.00	18T-PW	65	8.700	565.50
20T-MX	235	10.000	2,350.00	20T-MX	235	10.420	2,448.70
20T-OO	170	10.000	1,700.00	20T-OO	170	3.640	618.80
15T-AB	210	24.000	5,040.00	15T-AB	210	17.000	3,570.00
20T-A	1000	10.000	10,000.00	20T-A	1000	9.550	9,550.00
	Bid	Total:	19,875.00		Bid	Total:	16,888.00